	Item ID Number:  30005450

	Directions:  

	Passage or Graphic:  
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	Stem:  What comes next?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  B
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	Item Entry Complete:  Y


	Item ID Number:  30005460

	Directions:  

	Passage or Graphic:  

	Stem:  Two cats ran away. Now there are four cats. Which number sentence says the same thing?

	Option A. 4 - 2 = 2

	Option B. 6 - 4 = 2

	Option C. 2 + 2 = 4

	Option D. 3 + 2 = 5

	Option E. 6 - 2 = 4

	Key:  E

	RIT Range:  165  Goal 8.8

	Copyright Information:  

	Idaho Content Alignment:  300.03.a

	Learning Cont. Goal:  Algebraic Concepts
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	Idaho Falls Content Alignment:  Grade 1, Abacus 42

	Item Entry Complete:  Y


	Item ID Number:  30005470

	Directions:  

	Passage or Graphic:  

	Stem:  What is the missing number in 
[image: image17.wmf]7+__=9

?

	Option A. 3

	Option B. 2

	Option C. 4

	Option D. 1

	Option E. 5

	Key:  B

	RIT Range:  170  Goal 7.6

	Copyright Information:  

	Idaho Content Alignment:  300.03.a

	Learning Cont. Goal:  Algebraic Concepts
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	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 4, Abacus 205

	Item Entry Complete:  Y


	Item ID Number:  30005480

	Directions:  

	Passage or Graphic:  

	Stem:  Ten cars were in a race. Two cars did not finish. How would you find out the number of cars that did finish the race?

	Option A. add 
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	Option B. subtract 
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	Option C. multiply 
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	Option D. divide 
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	Option E. none of the above

	Key:  B
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	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, Abacus 241

	Item Entry Complete:  Y


	Item ID Number:  30005490

	Directions:  

	Passage or Graphic:  

	Stem:  What is the missing factor in 
[image: image22.wmf]3×__=15

?

	Option A. 4

	Option B. 5

	Option C. 6

	Option D. 12

	Option E. 7

	Key:  B

	RIT Range:  180  Goal 7.6
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	Item ID Number:  30005500

	Directions:  

	Passage or Graphic:  

	Stem:  
[image: image23.wmf]6+3-4=__



	Option A. 13

	Option B. 7

	Option C. 9

	Option D. 5

	Option E. 10

	Key:  D

	RIT Range:  170  Goal 1.1
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	Item Entry Complete:  Y


	Item ID Number:  30005510

	Directions:  

	Passage or Graphic:  

	Stem:  
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	Option A. 6

	Option B. 5

	Option C. 3

	Option D. 2

	Option E. 9

	Key:  D

	RIT Range:  171  Goal 7.8.2
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	Item Entry Complete:  Y


	Item ID Number:  3000

	Directions:  

	Passage or Graphic:  


1, 4, 7, 10, __, __



	Stem:  What are the next two numbers in the pattern?

	Option A. 12, 14

	Option B. 14, 15

	Option C. 11, 12

	Option D. 13, 17

	Option E. 13, 16

	Key:  E
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	Idaho Content Alignment:  303.01.a
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	Item Entry Complete:  Y


	Item ID Number:  30005530

	Directions:  

	Passage or Graphic:  
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	Stem:  What is the missing number in this pattern?

	Option A. 6

	Option B. 9

	Option C. 5

	Option D. 3

	Option E. 7

	Key:  A
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	Item ID Number:  30005540

	Directions:  

	Passage or Graphic:  
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	Stem:  Sally is selling candy bars for her school. If the pattern in the table continues, how many candy bars will Sally sell on Thursday?

	Option A. 4

	Option B. 5

	Option C. 12

	Option D. 10

	Option E. 8

	Key:  C
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	Item Entry Complete:  Y


	Item ID Number:  30005550

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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	Option A. 6

	Option B. 3

	Option C. 2

	Option D. 5

	Option E. 12
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	Item Entry Complete:  Y


	Item ID Number:  30005560

	Directions:  Complete the number sentence.

	Passage or Graphic:  

	Stem:  
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	Option A. 3

	Option B. 57

	Option C. 75

	Option D. 2

	Option E. 12

	Key:  D
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	Item ID Number:  30005570

	Directions:  Complete the number sentence

	Passage or Graphic:  

	Stem:  
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	Option A. 26

	Option B. 1

	Option C. 3

	Option D. 12

	Option E. 2
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	Copyright Information:  

	Idaho Content Alignment:  300.01.b

	Learning Cont. Goal:  Algebraic Concepts

	Learning Cont. Subgoal:  Solving Equations & Inequalities...

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #194

	Item Entry Complete:  Y


	Item ID Number:  30005580

	Directions:  

	Passage or Graphic:  
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	Stem:  Which property do these show?

	Option A. associative property

	Option B. commutative property

	Option C. zero property

	Option D. addition property

	Option E. subtraction property

	Key:  A
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	Item ID Number:  30005590

	Directions:  

	Passage or Graphic:  
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	Stem:  Which point is at (5, 2)?

	Option A. point A

	Option B. point B

	Option C. point C

	Option D. point D

	Option E. point E
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	Item ID Number:  30005600

	Directions:  

	Passage or Graphic:  


24, 28, 32, 36, 40, ...



	Stem:  Which number comes next?

	Option A. 40

	Option B. 44

	Option C. 43

	Option D. 48

	Option E. 41

	Key:  B
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	Item ID Number:  30005610

	Directions:  

	Passage or Graphic:  
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	Stem:  Which number makes the sentence true?

	Option A. 2,645

	Option B. 4,342

	Option C. 2,634

	Option D. 2,648

	Option E. 6,243
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	Item ID Number:  30005620

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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, then 
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	Option A. 20

	Option B. 500

	Option C. 420
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	Item ID Number:  30005630

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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, then 
[image: image36.wmf] equals

	Option A. 800

	Option B. 0

	Option C. 80
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	Item ID Number:  30005640

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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	Option A. 6

	Option B. 36

	Option C. 7

	Option D. 49
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	Item ID Number:  30005650

	Directions:  

	Passage or Graphic:  

	Stem:  
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	Option A. 6

	Option B. 27

	Option C. 3

	Option D. 81

	Option E. 9
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	Item ID Number:  30005660

	Directions:  

	Passage or Graphic:  

	Stem:  What is the value of 
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?

	Option A. 2

	Option B. 4

	Option C. 10

	Option D. 30

	Option E. 36
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	Item ID Number:  30005670

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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, then 
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	Option A. 487

	Option B. 413

	Option C. 317

	Option D. 387

	Option E. 823
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	Item ID Number:  30005680

	Directions:  

	Passage or Graphic:  
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	Stem:  What number completes the table?

	Option A. 34

	Option B. 32

	Option C. 35

	Option D. 33

	Option E. 36
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	Item ID Number:  30005690

	Directions:  

	Passage or Graphic:  

	Stem:  What is the value of 
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480+b-12

 if 
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?

	Option A. 308

	Option B. 328

	Option C. 388

	Option D. 332
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	Directions:  

	Passage or Graphic:  

	Stem:  
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	Item ID Number:  30005710

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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	Directions:  

	Passage or Graphic:  

	Stem:  
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	Option A. 
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	Item ID Number:  30005730

	Directions:  

	Passage or Graphic:  

	Stem:  If 
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	Option A. 1.7

	Option B. 3

	Option C. 3.5

	Option D. 2.5
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	Item ID Number:  30005740

	Directions:  

	Passage or Graphic:  

	Stem:  
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	Option B. 1,000
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	Option D. 1
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	Directions:  

	Passage or Graphic:  

	Stem:  
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	Item ID Number:  30005760

	Directions:  

	Passage or Graphic:  

	Stem:  
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	Stem:  What is the missing value in the table?

	Option A. 24

	Option B. 23

	Option C. 15

	Option D. 13

	Option E. 25
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	Directions:  Solve.
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	Passage or Graphic:  

	Stem:  
[image: image93.wmf]2

x-6x-40=0



	Option A. 
[image: image94.wmf]8,4

x

=



	Option B. 
[image: image95.wmf]12,6

x

=-



	Option C. 
[image: image96.wmf]10,4

x

=-



	Option D. 
[image: image97.wmf]6,2

x

=-



	Option E. 
[image: image98.wmf]5,4

x

=-



	Key:  C

	RIT Range:  220  Goal 7.1

	Copyright Information:  

	Idaho Content Alignment:  350.03.b

	Learning Cont. Goal:  Algebraic Concepts

	Learning Cont. Subgoal:  Solving Equations & Inequalities...

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30005820

	Directions:  Complete the table.
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	Directions:  
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	Directions:  Solve.

	Passage or Graphic:  

	Stem:  
[image: image126.wmf]x

+8=-2

3



	Option A. 
[image: image127.wmf]30

x

=-



	Option B. 
[image: image128.wmf]14

x

=



	Option C. 
[image: image129.wmf]14

x

=-



	Option D. 
[image: image130.wmf]30

x

=



	Option E. 
[image: image131.wmf]18

x

=



	Key:  A

	RIT Range:  230  7.1

	Copyright Information:  

	Idaho Content Alignment:  340.03.a

	Learning Cont. Goal:  Algebraic Concepts

	Learning Cont. Subgoal:  Solving Equations & Inequalities, ...

	Learning Cont. Bullet #:  12

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30005900
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	Directions:  Solve.
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	Directions:  Simplify.

	Passage or Graphic:  
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[image: image139.wmf](

)

3x-4



	Option A. 
[image: image140.wmf]312

x

+



	Option B. 
[image: image141.wmf]312

x

-



	Option C. 
[image: image142.wmf]37

x

-



	Option D. 
[image: image143.wmf]37

x

+



	Option E. 
[image: image144.wmf]7

x

+



	Key:  B

	RIT Range:  230  7.11.1

	Copyright Information:  

	Idaho Content Alignment:  340.02.a

	Learning Cont. Goal:  Algebraic Concepts

	Learning Cont. Subgoal:  Solving Equations & Inequalities, ...

	Learning Cont. Bullet #:  15

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30005930

	Directions:  
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	Directions:  

	Passage or Graphic:  
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	Stem:  Which equation is shown by the graph?
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	Directions:  

	Passage or Graphic:  

	Stem:  Which equation would graph as a straight line?
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	Directions:  

	Passage or Graphic:  

	Stem:  Which algebraic expression would show the situation "eight pounds heavier than his brother?"
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	Directions:  Solve.

	Passage or Graphic:  
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	Directions:  Evaluate.
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	Directions:  
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	Directions:  Simplify:

	Passage or Graphic:  
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	Directions:  

	Passage or Graphic:  

	Stem:  If 
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	Directions:  

	Passage or Graphic:  

	Stem:  Which set of ordered pairs is a function?
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	Passage or Graphic:  

	Stem:  Which table represents an example of inverse variation?

	Option A. 
a

10

15

b

3

2



	Option B. 
a

2

4

b

1

8



	Option C. 
a

3

8

b

1

4



	Option D. 
a

5

15

b

10

45



	Option E. 
a

3

8

b

6

4



	Key:  A

	RIT Range:  241  8.8

	Copyright Information:  

	Idaho Content Alignment:  343.01.b

	Learning Cont. Goal:  Algebraic Concepts

	Learning Cont. Subgoal:  Patterns, ...

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "Dist. #91: Alg I"

	Item Entry Complete:  Y


	Item ID Number:  30006070

	Directions:  Solve for x.

	Passage or Graphic:  

	Stem:  
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	Directions:  

	Passage or Graphic:  

	Stem:  What is the slope of a line perpendicular to the line represented by the equation 
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	Directions:  Solve the system of equations and interpret the solution graphically.

	Passage or Graphic:  
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	Stem:  What are sin A and cos A?
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	Stem:  What are the domain and range of the given function?
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	Stem:  Which system of inequalities is represented by the graph?
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	Stem:  Which of the following is a true statement about these line equations?

	Option A. One line is perpendicular to the other two.
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	Stem:  Which of these is a true statement?
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